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,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk; 
 

 

guPl;rfupd; mwpf;ifguPl;rfupd; mwpf;ifguPl;rfupd; mwpf;ifguPl;rfupd; mwpf;if 
 

kl;lk;kl;lk;kl;lk;kl;lk; I guPl;irguPl;irguPl;irguPl;ir – 2020 A+iyA+iyA+iyA+iy 
 

(102)  tpahghuf; fzpjKk; Gs;sptpgutpaYk;tpahghuf; fzpjKk; Gs;sptpgutpaYk;tpahghuf; fzpjKk; Gs;sptpgutpaYk;tpahghuf; fzpjKk; Gs;sptpgutpaYk; 
 

  

,e;j tpdhj;jhs; A, B, C  vd 3 gFjpfisf; nfhz;lJ. 

nkhj;jkhf 40 Gs;spfs; xJf;fg;gl;bUe;j gFjp gFjp gFjp gFjp A MdJ tpdh ,y. 1.1 njhlf;fk; 1.10 

tiuahd xt;nthd;Wk; 3 Gs;spfisf; nfhz;l nkhj;jkhf 30 Gs;spfs; xJf;fg;gl;l gy;Nju;T 

tpdhf;fisAk; (OTQs) tpdh ,y. 1.11 njhlf;fk; 1.15 tiuahd nkhj;jkhf 10 Gs;spfs; 

xJf;fg;gl;l 5 FW tpdhf;fisAk; cs;slf;fpapUe;jJ.  

tpdh 01 ,d; gFjpfSf;F guPl;rhu;j;jpfshy; mspf;fg;gl;l tpilfspypUe;J mtjhdpf;fg;gl;l 

nghJthd FiwghLfs; rpy fPNo jug;gLfpd;wd :  

gFjpgFjpgFjpgFjp A 

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 01  

nghJthf guPl;rhu;j;jpfs; rfy gj;J gy;Nju;T tpdhf;fSf;Fk; tpil mspj;jpUe;jdu;. 

Mdhy;> rpyu; tpilaspj;jpuhj re;ju;g;gq;fSk; fhzg;gl;ld. rupahf tpilfspd; epfo;jfT 

25% Mff; fhzg;gl;lJ. rpyu; nra;J ghu;f;fhJ tpilfis mDkhdpj;J vOjpapUe;jjhy; 

Gs;spfs; ngWk; tha;g;gpidj; jtw tpl;bUe;jdu;.  

1.1 kw;iwa ,df; FOkj;jpdu; 3200 Ngiu cs;slf;fpapUg;gjhy; nkhj;jr; rdj;njhif 
3���
�.�� � 40,000 MFk;. rpq;fstu;fspd; rdj;njhif 70% Mf ,Ug;gpd; rupahd tpil 

,y. (2) MFk;. mjhtJ 40,000 X
	�

�� � 28,000. rpy guPl;rhu;j;jpfs; rupahd tpilahf 

,y. (4) ,idj; njupT nra;jpUe;jdu;. NtW rpy guPl;rhu;j;jpfs; 40,000 X
��

�� � 8,800  

,id vLj;J tpil ,y. (1) ,idr; rupahd tpilahff; Fwpg;gpl;bUe;jdu;. 

1.2 ,J khwp xd;iwf; nfhz;l vspa rkd;ghL xd;iwj; jPu;f;Fk; mwpitg; guPl;rpj;j xU 

tpdhthFk;. 80% Md guPl;rhu;j;jpfs; rupahd tpiliaf; Fwpj;jpUe;jdu;. 

kl;Lg;gLj;jg;gl;l vz;zpf;ifapyhd guPl;rhu;j;jpfs; 8y-6y = 24-8 vd vLg;gjw;Fg; gjpyhf 

8y-6y = 24+8 vd vLj;jpUe;jJld; y = 16 vd;w jtwhd tpil fhzg;gl;l ,y. (3) 

,idj; njupT nra;jpUe;jdu;. 

1.3 ,t;tpdh vspa tl;biaf; fzpg;gpLtJ gw;wpa guPl;rhu;j;jpfspd; mwpitg; 

guPl;rpj;jpUe;jJ. 8% tl;bapy; 3 Mz;Lfs; fhyg;gFjpf;fhd xU KjyPl;bw;F 3 

Mz;Lfspd; ,Wjpapy; fpilf;Fk; nkhj;j njhifia (KjyPLk; tl;bAk; Nru;j;J) 

fzpg;gpLtJ vjpu;ghu;f;fg;gl;lJ. ngUk;ghyhd guPl;rhu;j;jpfs; rupahd tpilia 

mspj;jpUe;jdu;. vspa tl;br; #j;jpukhd S=x(1+nr) ,y; Mz;Lfspd; vz;zpf;iff;fhf 

3 ,idg; gpujpaPL nra;tjw;Fg; gjpyhf 1 ,idg; gpujpaPL nra;j guPl;rhu;j;jpfs; jtwhd 

tpiliag; ngw;wpUe;jdu;. mjhtJ � � 6000�1 � �

��� � 6,480. rupahd tpil ,y. (3) 

,y; fhzg;gl;l NghjpYk; mtu;fs; ,y. (4) ,idj; njupT nra;jpUe;jdu;.   
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1.4 ,e;j tpdhtpd; %yk; 2018 kw;Wk; 2019 Mk; Mz;LfSf;fhd gz;lq;fspd; msTfs; 

(fzpaq;fs;) jug;gl;L> 2018 Mk; Mz;il mbahz;lhff; nfhz;L 2019 Mk; 

Mz;bw;fhd vspa jpus; fzpar; Rl;biaf; fzpg;gpLkhW Nfl;fg;gl;lJ. ngUk;ghyhd 

guPl;rhu;j;jpfs; rupahd tpilahd (1) ,idj; njupT nra;jpUe;jdu;. 

jtwhd tpil mspj;jpUe;jtu;fs; vspa jpus; fzpar; Rl;bf;fhd rkd;ghlhd        
∑��
∑��

× 100 ,id vLg;gjw;Fg; gjpyhf 
∑��
∑��

× 100 ,id vLj;jpUe;jdu;. ,jdhy; mtu;fs; 

∑��
∑��

× 100 = 
�

�� X 100=150% vd;w tpiliag; ngw;W ,y. (4) Ij; njupT nra;jpUe;jdu;. 

1.5 ,q;F> ‘X’ vdf; Fwpg;gplg;gl;bUe;j xU khztu; ngw;w Gs;spAld; Nru;j;J 6 khztu;fs; 

fzpj ghlf; fzpg;gPnlhd;wpy; ngw;w Gs;spfs; jug;gl;bUe;jd. ,jd; ,il 83 Mf 

,Uf;Fnkdpd; X ,d; ngWkhdk; ahnjd tpdtg;gl;lJ. mjpfsthd guPl;rhu;j;jpfs; X 

,d; ngWkhdk; 84 vdr; rupahfj; jPu;j;J> rupahd tpil toq;fg;gl;bUe;j tpil ,y. 

(3) ,idj; njupT nra;jpUe;jdu;. kl;Lg;gLj;jg;gl;l vz;zpf;ifapyhd guPl;rhu;j;jpfs; X 

,d; ngWkhdkhf 83 ,idg; gpioahf vLj;J> tpil (2) vdf; Fwpj;jpUe;jdu;. 

1.6 ,t;tpdh x, y vd;w ,uz;L khwpfs; njhlu;ghd gpd;tUk; Gs;sptpguj; njhFg;gpid 

toq;fpapUe;jJ. 

 ∑� � 70, ∑ � = 30.6, ∑ �� = 310.5, ∑ �� = 952, ∑ �� = 134.3, " = 7  
 ,q;F> fPNo jug;gLk; rkd;ghl;ilg; gad;gLj;jp x kw;Wk; y ,w;fpilapyhd ,izGf; 

Fzfj;ijg; ngWkhW Nfl;fg;gl;lJ.  

                               
# ∑ $%&∑ $ ∑ %

'()# ∑ $*&+∑ $,*- ×)# ∑ %*&+∑ %,*-.                

 mjpfsthd guPl;rhu;j;jpfs; ,g;gFjpf;Fr; rupahd tpilia mspj;jpUf;ftpy;iy. r ,d; 

ngWkhdj;ijj; Jzptjw;F ,Wjp tiu ngWkhdq;fs; gpujpaplg;gl;L RUf;fg;gltpy;iy 

vd;gij nra;Kiwfisg; guPl;rpf;Fk;NghJ mtjhdpf;ff; $bajhf ,Ue;jJ. ,jdhy; 

,Wjp tpilapid vLf;fhky; mDkhdj;jpd; %yk; tpilaspj;jpUe;jdu;. gpujpapl;L> 

RUf;fpajd; %yk; tpilapidg; ngw;wpUe;j rpy guPl;rhu;j;jpfs; - 0.4697 vd;w gpioahd 

tpiliaj; njupT nra;jpUe;jdu;.   

1.7 ,e;j tpdh epfo;jfTld; njhlu;GilaJ. rupahd tpil /+0\2, = 3+4∩6,
3+6, = 
�


7  Mf 

,Ue;j NghjpYk; mjpfsthd khztu;fs; /+0\2, ,w;Fg; gjpyhf /+2\0, = 
3+4∩6,

3+4, = 
�
��  

vd fzpj;jpUe;jjhy; jtwhd tpiliag; ngw;wpUe;jdu;. 

1.8  tpdhtpd; ,g;gFjpf;F kl;Lg;gLj;jg;gl;l vz;zpf;ifapyhd guPl;rhu;j;jpfs; khj;jpuNk 

rupahf tpil mspj;jpUe;jdu;. mjpfsthd khztu;fs; tUlhe;j kPs;nfhLg;gdT 

jtizg; gzkhf &gh 175,521/- ,idg; ngw;wpUe;jJld; jtwhd tpilahd ,y. (4) 

Ij; njupT nra;jpUe;jdu;.  

1.9 ngUk;ghyhd guPl;rhu;j;jpfs; ,g;gFjpf;F rupahd tpil mspj;jpUe;jdu;. rpy 

guPl;rhu;j;jpfshy; fhyhz;bw;Ff; $l;lg;gLfpd;w $l;L tl;biaf; fzpg;gjw;fhd 

#j;jpuj;ijr; rupahfg; gpujpapl;L> rupahd tpiliag; ngWtjw;F Kbahkw; 

NghapUe;jJ. 
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1.10 ngUk;ghyhd guPl;rhu;j;jpfs; ,g;gFjpf;Fr; rupahf tpilaspj;jpUe;jdu;. rpy 

guPl;rhu;j;jpfs; X ,d; ngWkhdkhf 7 ,id vLg;gjw;Fg; gjpyhf 6 ,idg; gpioahf 

vLj;jpUe;jdu;. ,jdhy; mtu;fs; tpil ,y. (2) ,y; fhzg;gl;l 2,129 ,idj; njupT 

nra;jpUe;jdu;.   

1.11 mjpfsthd guPl;rhu;j;jpfs; A, B, C, D Mfpatw;why; Fwpg;gplg;gLfpd;w gjq;fis 

mtw;Wf;Fupa $w;Wf;fSld; rupahfj; njhlu;GgLj;jpapUe;jdu;. rpwpa vz;zpf;if 

apyhNdhu; vspa tl;b kw;Wk; Mz;Lj;njhif gw;wp gpioahf tpsq;fpf; 

nfhz;bUe;jjhy; (2) ,id (A) clDk; (3) ,id D clDk; njhlu;GgLj;jpapUe;jdu;.  

 rpy guPl;rhu;j;jpfs; tpdhtpy; jug;gl;l mwpTWj;jy;fisr; rupahf tpsq;fpf; nfhs;shJ> 

cupa ,yf;fj;ij khj;jpuk; vOJtjw;Fg; gjpyhf KO trdj;ijAk; vOjp> 

ngWkjpahd Neuj;ij tPzbj;jpUe;jdu;.  

1.12 rpy guPl;rhu;j;jpfs; tl;l tpsf;fg;glj;ij tiutjw;Fg; gjpyhf epuy; tpsf;fg;glj;ij 

tiue;jpUe;jdu;. Fwpg;gplj;jf;fsT guPl;rhu;j;jpfs; 360
0 ,dhy; my;yJ tPjhrhu 

tifapy; jug;gl;l ngWkjpfshd 30, 18, 24 Mfpatw;iwg; gpupf;fhJ ntWkNd 

tl;lj;ij %d;W gFjpfshfg; gpupj;jpUe;jdu;. 

  
��
	� ∗ 360° = 150°, 
�

	� ∗ 360° = 90°, ��
	� ∗ 360° = 120°  vd rpy guPl;rhu;j;jpfs; rupahfg; 

gpupj;jpUe;j NghjpYk;> mtu;fs; tpsf;fg;glj;jpy; ngaupltpy;iy. rpy guPl;rhu;j;jpfs; 

tl;l tpsf;fg;glj;jpw;Fg; gjpyhf ntd; tupg;glj;ij tiue;jpUe;jdu;. 

1.13  mjpfsthd guPl;rhu;j;jpfs; epfo;jfTf; $l;lYf;fhf gpd;tUk; #j;jpuj;ijr; rupahfg; 

gad;gLj;jpapUe;jdu;. 

P(A∪ 2, = /+0, + /+2, − /+0 ∩ 2,     

P(A∩ 2,   = /+0, + /+2, − /+0 ∪ 2,, P(A∩ 2, = 0.6 + 0.3 − 0.72 = 0.18 

 MapDk;> rpy guPl;rhu;j;jpfs; gpujpapl;ljd; gpd;du; mjidr; RUf;Ftjpy; gpd;tUk; 

jtWfis tpl;bUe;jdu;. 

          /+0 ∪ 2, = /+0, + /+2, −P(A∩ 2, 

     0.72  =  0.6+0.3 - P(A∩ 2, vd rupahf #j;jpuj;ij vOjpg; gpujpapl;bUe;j NghjpYk; 

RUf;Fk;NghJ 

 0.72 -0.6-0.3 =  P(A∩ 2, vd vOjpapUe;jjhy; P(A∩ 2,   = −0.18 vd;w gpioahd 

ngWkjpia mtu;fs; ngw;wpUe;jdu;.   

1.14  ,w;Fk; 1.15 ,w;Fk; ngUk;ghyhd guPl;rhu;j;jpfs; rupahf tpilaspj;jpUe;jdu;. 
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gFjpgFjpgFjpgFjp B 

4 fl;lha tpdhf;fis cs;slf;fpapUe;j ,e;jg; gFjpf;fhd tpilfis kjpg;gPL 

nra;Ak;NghJ gpd;tUk; tplaq;fs; mtjhdpf;fg;gl;ld.   

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 02    

mjpf msthd guPl;rhu;j;jpfs; ,t;tpdhTf;F tpilaspj;jpUe;jJld; Fwpg;gplj;jf;fsthd 

guPl;rhu;j;jpfs; KOg; Gs;spfisAk; ngw;wpUe;jdu;.   

(a) ,J ,uz;L khwpfisf; nfhz;l xUq;fikr; rkd;ghLfisj; jPu;g;gJ gw;wpa xU 

tpdhthFk;. RUf;Ftjd; %yk; x kw;Wk; y ,d; ngWkhdq;fisf; fzpg;gpLtJ ,q;F 

vjpu;ghu;f;fg;gl;lJ. ngUk;ghyhd guPl;rhu;j;jpfs; cau;e;jgl;r Gs;spfisg; ngw;wpUe;jdu;. 

NkYk;> mtu;fspy; rpyu; nra;Kiwfspd;wp tpilfis toq;fpapUe;jdu;. MapDk; 

cau;e;jgl;r Gs;spfis mtu;fs; ngw;Wf; nfhz;ldu;. mj;Jld;> rupahd tpilfisg; 

ngw;wpUe;j NghjpYk; RUf;FtJ njhlu;ghd guPl;rhu;j;jpfspd; mwpT Nkhrkhf 

,Ue;jij mtjhdpf;ff;$bajhf ,Ue;jJ. cjhuzkhf> rkd;ghL 1 my;yJ 2 ,w;F 

Kjyhtjhf Jzpag;gl;l khwpapd; ngWkhdj;ijg; gpujpaPL nra;Ak;NghJ> gpd;tUkhW 

nra;jy; Ntz;Lk; ; 

y = 4 ,id 1 MtJ rkd;ghl;by; gpujpaPL nra;Ak;NghJ,   

    3x+2y = 17,     3x +2 x 4 = 17,     3x +8 = 17,      3x  = 17 - 8,      3x  = 9,      x  = 3     

rpy guPl;rhu;j;jpfs; xU rkd;ghl;by; kw;iwa rkd;ghl;il gpujpapLk; Ntisapy; 

fopj;jy;fs; nra;Ak;NghJ milg;Gf;Fwpfisr; RUf;Ftjpy; fhzg;gl;l Nghjpa 

mwptpd;ik fhuzkhf gpio tpl;bUe;jdu;. 

cjhuzkhf : 

 6x + 15y - (6x + 4y)  =  78 – 34 
 

6x + 15y -6x + 4y = 44,        19y = 44,      y = 44/19,    y = 2.31 

xUq;fikr; rkd;ghLfisr; RUf;FtJ gw;wpa rpy guPl;rhu;j;jpfspd; mwpT kpfTk; 

jho;e;j kl;lj;jpy; ,Ug;gijNa ,J fhl;LfpwJ.  

rpy guPl;rhu;j;jpfs; kw;iwa ngWkhdq;fshy; ngUf;Ftjd; %yk; gpurpdj;ijj; 

jPu;g;gjw;F Kaw;rpj;jpUe;jdu;. ,jw;F ,uz;L rkd;ghLfspYKs;s xU khwpapd; 

Fzfk; rkg;gLj;jg;gl Ntz;Lk;. 

(b) ,e;j tpdh 20% ,yhgk; itj;J &gh 48,000/- ,w;F tpw;gid nra;ag;gl;l xU 

Nkirapd; cw;gj;jpr; nryitf; fzpg;gpLkhW Nfl;bUe;jJ. Fwpg;gplj;jf;fsT 

guPl;rhu;j;jpfs; ,yhgk;> tpw;gid tpiy kw;Wk; cw;gj;jpr; nryT Mfpatw;Wf;F 

,ilapyhd njhlu;G gw;wp mwpe;jpUf;ftpy;iy. 

 rpy guPl;rhu;j;jpfs; ,t;thW ,yhgj;ijf; fzpj;jpUe;jdu;  

            = 48000� ��

�� = Rs.9,600,    

                          cw;gj;jpr; nryT   =  48,000 - 9600 = Rs. 38,400 

 NtW rpyu; cw;gj;jpr; nryitg; gpd;tUkhW fzpj;jpUe;jdu; 

    cw;gj;jpr; nryT =  48000� 
��

�� = Rs. 57,600 
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(c) tpdhtpd; ,e;jg; gFjpapy; rkdpypfs; ,uz;L toq;fg;gl;L> (i) tiuG xd;iw 

tiuAkhWk; (ii) ,uz;L rkdpypfisAk; jpUg;jpg;gLj;Jk; gpuNjrj;ij ,dq;fhZkhWk; 

Nfl;fg;gl;lJ.  

Fiwe;j vz;zpf;ifapyhd guPl;rhu;j;jpfNs ,jw;F KOikahd Gs;spfisg; 

ngw;wpUe;jdu;. rpy guPl;rhu;j;jpfs; 3x + 2y = 12 kw;Wk; x + 2y = 6 Mfpa NfhLfisr; 

rupahf tiue;jpUe;jdu;. xU rpy guPl;rhu;j;jpfs; x kw;Wk; y mr;R Mfpatw;iw 

khj;jpuk; tiue;jpUe;jJld; mjw;fhf khj;jpuk; xt;nthU Gs;spiag; ngw;wpUe;jdu;.  

 

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 03    

,e;j tpdh (a), (b), (c) vd 3 gFjpfisf; nfhz;lJ. Nfs;tpr; rhu;G> epiyahd fpuak; kw;Wk; 

khWk; fpuar; rhu;G vd;gd jug;gLk;NghJ> (a) nkhj;j tUkhdr; rhu;G (TR) kw;Wk; nkhj;jf; 

fpuar; rhu;G (TC) (b) ,yhgr; rhu;G (c) ,yhgk; cr;rkilAk;Nghjhd myFfspd; vz;zpf;if 

Mfpatw;iwg; fzpg;gpLtJ vjpu;ghu;f;fg;gl;lJ. miuthrpf;Fk; Nkw;gl;l guPl;rhu;j;jpfs; 

,t;tpdhTf;Fr; rupahf tpilaspj;J KOg; Gs;spfisAk; ngw;wpUe;jdu;. 

(a) ,q;F> Nfs;tpr; rhu;G p = 1000-2q vdTk; epiyahd fpuak; (FC) = &gh 800 vdTk; khWk; 

fpuar; rhu;G (VC) = 100q + 3q
2
 vdTk; jug;gl;L> nkhj;j tUkhdr; rhu;igAk; nkhj;j 

fpuar; rhu;igAk; milahsq; fhZkhW Nfl;fg;gl;lJ. ,e;jg; gFjpf;F 

tpilaspf;Fk;NghJ guPl;rhu;j;jpfshy; tplg;gl;l xU rpy jtWfs; fPNo jug;gl;Ls;sd:  

(1) TC = FC + VC vd;gijAk; TR = p X q vd;gijAk; milahsq; fhz;gjw;fhd Nghjpa 

mwptpidg; gy guPl;rhu;j;jpfs; nfhz;bUf;ftpy;iy vd;gij mtjhdpf;ff; 

$bajhf ,Ue;jJ. 

(2) nkhj;j fpuar; rhu;igg; ngWk;NghJ TC = FC + VC vd vLg;gjw;Fg; gjpyhf      

TC = FC x VC  vd vLj;jjd; %yk; jtwhd tpil mspf;fg;gl;bUe;jJ.   

(3) NtW rpy guPl;rhu;j;jpfNsh TC =  VC + p vd vLj;J tpilaspf;f Kaw;rpj;jpUe;jdu;. 

(4) mjpfsthd guPl;rhu;j;jpfs; TR = p X q = (1000-2q) X q ,id TR = 1000-2q
2 vd;wthW 

gpioahfr; RUf;fpapUe;jdu;.  
 
  

(5) Fwpg;gpl;lsT guPl;rhu;j;jpfs; TR = 1000-2q vdf; fhl;bapUe;jdu;. 

(b) ,q;F gFjp (a) ,y; milahsq; fhzg;gl;l TR kw;Wk; TC ,idg; gad;gLj;jp ,yhgr; 

rhu;ig (TP) milahsq;fhz vjpu;ghu;j;jJ. guPl;rhu;j;jpfshy; tplg;gl;l xU rpy 

jtWfs; fPNo jug;gl;Ls;sd :  

(1) ,yhgr; rhu;ig TP = TR - TC vd vLf;f Ntz;Lk; vd;w NghjpYk;> Fwpg;gpl;l rpy 

guPl;rhu;j;jpfs; TP = TC - TR kw;Wk; TR = TC vd vLj;J tpdhitj; jPu;f;f 

Kaw;rpj;jpUe;jdu;.  

(2) rpy guPl;rhu;j;jpfs; TP = TR – TC ,idr; RUf;Ftjw;F gpd;tUkhW nra;jpUe;jdu;.  

TP = (1000 – 2q)q – (800 + 100q + 3q
2
) = 1000q – 2q

2 
– 800 + 100q + 3q

2 
= 1100q + q

2 
– 800.  

milg;G ePf;fpr; RUf;Fk;NghJ khztu;fspd; RUf;Fk; Mw;wy; kpfTk; jho;e;j 

kl;lj;jpy; ,Ug;gijNa ,J ntspf;fhl;LfpwJ.  

(3) NtW rpy guPl;rhu;j;jpfs; TR = 1000-2q vdf; fUjp,  

TP = (1000-2q) – (800+100q+3q
2
) = 1000-2q-800+100q+3q

2 
= 200+98q+3q

2
 vdf; 

fzpj;jpUe;jdu;. 
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(c) gFjp (b) ,y; fzpg;gplg;gl;l ,yhgr; rhu;igg; gad;gLj;jp my;yJ NtW VjhtJ 

Kiwfspd; %yk; ,yhgk; cr;rkilAk;Nghjhd myFfspd; vz;zpf;ifiaf; 

fzpg;gpLkhW ,q;F Nfl;fg;gl;lJ. gFjp (b) ,y; ,yhgr; rhu;gpidr; rupahf 

milahsq; fz;bUe;j ngUk;ghyhd guPl;rhu;j;jpfs;> ,yhgk; cr;rkilAk;Nghjhd 

myFfspd; vz;zpf;ifiaj; Jy;ypakhff; fzpj;jpUe;jdu;. NtW rpy 

guPl;rhu;j;jpfshYk; vy;iy tUkhdj;ij vy;iyf; fpuaj;jpw;Fr; rkg;gLj;jp (MR=MC)> 

,yhgk; cr;rkilAk;Nghjhd myFfspd; vz;zpf;ifiar; rupahff; fzpg;gpl 

Kbe;jpUe;jJ. gpd;tUk; fhuzq;fshy;> Vida guPl;rhu;j;jpfshy; KOg; Gs;spfisAk; 

ngw Kbatpy;iy :  

(1) ,yhgr; rhu;ig tifaPL nra;J mjid G+r;rpaj;jpw;Fr; rkg;gLj;Jtjd; %yk; 

�<+=,
<� = 0� ,yhgk; cr;rkilAk;Nghjhd myFfspd; vz;zpf;ifiaf; fzpg;gpLtJ 
gw;wpa mwpT rpy guPl;rhu;j;jpfsplk; fhzg;gl;bUf;ftpy;iy.    

(2) rpyu; gpd;tUkhW RUf;fpapUe;jdu;.  

<+=,
<� = 0,      900 – 10q = 0,        900 = 10q,      q = 9 

(3) rpy guPl;rhu;j;jpfsplk; tifaPL gw;wpa Nghjpa mwpT fhzg;glhik mtjhdpf;fg; 
gl;lJ.  

(4) rpy guPl;rhu;j;jpfs; ,yhgr; rhu;ig G+r;rpaj;jpw;Fr; rkg;gLj;jp (TP = 0)> ,yhgk; 

cr;rkilAk;Nghjhd myFfspd; vz;zpf;ifiaj; Jzpa Kaw;rpj;jpUe;jdu;. 

(5) MR = MC Kiwiag; gad;gLj;jpj; jPu;f;f Kaw;rpf;Fk;NghJ> 100 + 6q = 1000 – 4q 

vdr; rupahf vOjpapUe;j NghjpYk;> mjidr; RUf;Fk;NghJ 6q – 4q = 1000 – 100,       

6q + 4q = 1000 + 100 Nghd;wthwhd jtWfis tpl;bUe;jdu;. 

(6) rpy guPl;rhu;j;jpfs; MR = MC vd vLg;gjw;Fg; gjpyhf TR = TC vd vLj;J 

gpurpdj;ijj; jPu;f;f Kaw;rpj;jpUe;jdu;.   

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 04 

,t;tpdh gpw;nryTf; Nfhl;Lld; njhlu;GilaJ. ,q;F> fk;gdp xd;wpd; fle;j 6 khj 

fhyj;jpw;fhd tpsk;gug;gLj;jy; nryT (x) kw;Wk; tpw;gidg; ngWkjp (y) Mfpad 

njhlu;ghd juTfs; jug;gl;ld.  

(a) tpsk;gug;gLj;jy; nryTf;Fk; tpw;gidg; ngWkjpf;Fk; ,ilapyhd njhlu;gpidf; 

fhz;gjw;fhf y = a + bx vd;w rkd;ghl;bahy; jug;gLk; gpw;nryTf; Nfhl;bid ,opT 

tu;f;f Kiwiag; gad;gLj;jp milahsq; fhZkhW gFjp (a) ,y; Nfl;fg;gl;lJ. 

Fwpg;gplj;jf;fsT guPl;rhu;j;jpfs; gpw;nryTf; Nfhl;bd; rkd;ghl;ilr; rupahf milahsk; 

fz;L KOg; Gs;spfisAk; ngw;wpUe;jdu;. rpy guPl;rhu;j;jpfs; jtwhd #j;jpuj;ijg; 

gad;gLj;jpajd; fhuzkhf KOg; Gs;spfisAk; ,oe;jpUe;jdu;.  

gpw;nryTf; Nfhl;bd; Fzfkhd b  = 
)# ∑ $%&∑ $ ∑ %-
)# ∑ $*&+∑ $,*-  ,idf; fhz;gjw;fhf ∑x, ∑y, ∑x

2
, ∑xy 

,id fzpg;ghdpy; cs;spl;L jPu;T fz;bUf;fyhk; vd;w NghjpYk; gy guPl;rhu;j;jpfs; 

mt;thW nra;jpUf;ftpy;iy. mjpfsthd guPl;rhu;j;jpfSf;F mbg;gilahd fzpjtpay; 

vz;zf;fUf;fs; gw;wp Nghjpa mwpT fhzg;glhjjhy; mtu;fshy; rupahd tpiliag; 

ngw Kbatpy;iy. rpy guPl;rhu;j;jpfs; “b” ,idr; rupahff; fzpj;jpUe;j NghjpYk; 

mjid > = �? − @ �̅  vd;w rkd;ghl;by; ,l;L> “a” ,idf; fzpg;gpl;bUf;ftpy;iy. 

NkYk;> rpy guPl;rhu;j;jpfs; �̅ = 
 ∑ $

# ,      �? = 
 ∑ %

#   ,idj; Jzptjw;Fj; jtwpapUe;jdu;.    
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(b) ,e;jg; gFjpapy;> tpsk;gug;gLj;jy; nryT &gh 40,000/- Mf ,Uf;Fk;NghJ 

vjpu;ghu;f;fg;gLk; tpw;gidg; ngWkjpiaf; fzpf;FkhW Nfl;fg;gl;lJ. ,opT tu;f;f 

gpw;nryTf; Nfhl;bidr; rupahf milahsk; fz;bUe;j ngUk;ghyhd guPl;rhu;j;jpfs;> 

,e;jg; gFjpf;Fk; rupahf tpilaspj;jpUe;jdu;. RUf;Fk;NghJ tplg;gl;l jtWfs; kw;Wk; 

tpdhitr; rupahf tpsq;fpf; nfhs;shik Mfpatw;why; Vida guPl;rhu;j;jpfshy; 

,t;tpdhTf;F tpilaspf;f Kbatpy;iy.          

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 05    

 ,t;tpdh gFjp gFjp gFjp gFjp (a), (b), (c) vd 3 gFjpfisf; nfhz;bUe;jJ. tpdhtpy; jug;gl;l juTfisg; 

gad;gLj;jp (a) ,il (b) epak tpyfy; (c) khwy; Fzfk; Mfpatw;iwf; fzpg;gpLkhW 

Nfl;fg;gl;lJ. Fwpg;gplj;jf;f vz;zpf;ifapyhd guPl;rhu;j;jpfshy; ,t;tpdhTf;fhd KOg; 

Gs;spfisAk; ngw Kbe;jpUe;jJ.   

(a) ,q;F jug;gl;l juTfisg; gad;gLj;jp fhUf;fhd fhj;jpUg;G Neuj;jpd; ,ilg; 

ngWkhdj;ijf; fzpg;gpl Ntz;bapUe;jJ. mjpfsthd guPl;rhu;j;jpfs; ,ilg; 

ngWkhdj;ijr; rupahff; fzpg;gpl;bUe;jdu;. tFg;ghapilapd; eLg; ngWkhdj;ijf; 

rupahff; fzpg;gplhik> tFg;ghapil (5) vd milahsk; fhzhik> ‘ f ’ kw;Wk; ‘x’ 

ngWkjpfs; gw;wpa tpsf;fkpd;ik> mtw;iw Fog;gp vOjpapUe;jik> ∑fx ,d; 

nkhj;jj;ij vLf;fhik Nghd;w fhuzq;fshy; xU rpy guPl;rhu;j;jpfshy; ,iliar; 

rupahff; fzpg;gpl Kbatpy;iy.    

(b) fhUf;fhd fhj;jpUg;G Neuj;jpd; epak tpyfiyf; fzpg;gpLtJ ,g;gFjpapy; 

vjpu;ghu;f;fg;gl;lJ. rupahf tpilnaOjj; jtwpaikf;fhd fhuzq;fshf gpd;tUtd 

fhzg;gl;ld ; 

• rupahd #j;jpuj;ijg; gad;gLj;jhik 

• B∑ C$*
∑ C − �̅�  vd;w njhlu;Gila #j;jpuj;ijg; gpujpgz;zhik 

• (∑fx)
2 ,w;Fk; ∑fx

2 ,w;Fk; ,ilapyhd NtWghl;ilr; milahsk; fhzhik 

• Njitahd gjq;fis fzpg;gplhik 

• fx
2 ,idg; ngWtjw;F fx x fx  kw;Wk; fx x f Nghd;wthW gpioahff; 

gpujpapl;bUe;jik  

• √  ,idg; gad;gLj;jhik 

(c) gFjp (a) kw;Wk; gFjp (b) ,y; ngw;w ,il kw;Wk; epak tpyfiyg; gad;gLj;jp khwy; 

Fzfj;ijf; fzpg;gpLtij ,g;gFjp vjpu;ghu;j;jJ. kpfr; rpy guPl;rhu;j;jpfs; khj;jpuNk 

EF = G
$̅X 100 vd;w #j;jpuj;jpy; rupahd ngWkhdq;fisg; gpujpaPL nra;J rupahf tpil 

mspj;jpUe;jdu;. ,J guPl;rhu;j;jpfsplk; khwy; Fzfk; gw;wpa mwpNth my;yJ 

tpsf;fNkh Nghjpastpy; ,y;iy vd;gijNa fhl;LfpwJ. NkYk;> gFjp (a) kw;Wk; 

gFjp (b) ,w;F rupahf tpil mspg;gjw;fhd Mw;wy; fhzg;glhik kw;Wk; RUf;Ftjpy; 

tplg;gl;l jtWfs; vd;gd tpdhtpd; ,g;gFjpf;F guPl;rhu;j;jpfs; KOikahd Gs;spfs; 

ngw Kbahikf;F fhuzkhf mike;jd.  
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gFjpgFjpgFjpgFjp C 

tpdh ,ytpdh ,ytpdh ,ytpdh ,y. 06    

 ,t;tpdh A, B, C vDk; 3 gFjpfisf; nfhz;lJ. gFjpgFjpgFjpgFjp A epfu ,w;iwg; ngWkjpiaAk; gFjp gFjp gFjp gFjp B 

tpiyr; Rl;nlz; gw;wpa mwpitAk; gFjp gFjp gFjp gFjp C epfo;jfT gw;wpa mwpitAk; guPl;rpj;jpUe;jd.  

mjpfstpyhd guPl;rhu;j;jpfs; ,t;tpdhTf;F tpilaspj;jpUe;jdu; MapDk; vtuhYk; KOg; 

Gs;spfisAk; ngw Kbatpy;iy. 

(A) xU fk;gdp 15% fopT tPjj;jpy; &gh 150,000/- vd;w Muk;g KjyPl;Lld; xU Gjpa 

nraw;wpl;lj;ij kjpg;gPL nra;fpwJ. mLj;j 3 Mz;LfSf;F vjpu;ghu;f;fg;gLfpd;w fhR 

cl;gha;Tfs; jug;gl;bUe;jd.  

(a) ,g;gFjpapd; Nehf;fk; jug;gl;l jfty;fisg; gad;gLj;jp epfu ,w;iwg; 

ngWkjpiaf; fzpg;gpLtjhFk;.  

Fwpg;gplj;jf;fsT guPl;rhu;j;jpfshy; xt;nthU Mz;bw;Fkhd ,w;iwg; 

ngWkjpiar; rupahff; fzpg;gpLtjw;F Kbe;jpUe;j NghjpYk;> mtu;fspy; xU 

rpyUf;F epfu ,w;iwg; ngWkjpiar; rupahff; fzpg;gpl Kbatpy;iy.  

 epfu ,w;iwg; ngWkjpia fzpg;gpl Kbahikf;F gpd;tUtd fhuzq;fshf 

mike;jpUe;jd : 

(1) epfu ,w;iwg; ngWkjp gw;wpa tpsf;fkpd;ik 

(2) + kw;Wk; – Fwpfis ,lhJ RUf;fpaikahy; vw;gl;l tOf;fs; 

(3) NPV If; fzpg;gpLk;NghJ Muk;g KjyPlhd – 150,000 ,w;Fg; gjpyhf 

+150,000 gad;gLj;jg;gl;lik 

(4) fopTf; fhuzpahd 15% ,idg; gad;gLj;Jtjw;Fg; gjpyhf NtW fopTf; 

fhuzpfisg; gad;gLj;jpaik 

(5) 
+	����H�����H�����,


.
�I ,  
	����

.
�I + �����


.
�I  + 
�����

.
�I  vd 3 Mz;LfSf;Fj; jug;gl;l 

ngWkhdq;fisf; $l;Lk;NghJ jtW tpl;bUe;jik 

 

(b) ,g;gFjpapy;> gFjp (a) ,y; Jzpag;gl;l NPV ,d; mbg;gilapy; KjyPl;bw;fhf 

nraw;wpl;lk; njupT nra;ag;gl Ntz;Lkh vd;gijf; Fwpg;gpLtjw;F vjpu;ghu;f;fg; 

gl;lJ. ,q;F jtwhd NPV ,d; mbg;gilapy; rupahd gupe;Jiuia toq;fpa 

guPl;rhu;j;jpfs; fhzg;gl;l mNj Ntis tpdhtpy; vjpu;ghu;f;fg;gl;l gupe;Jiufs; 

gw;wpa tpsf;fkpd;wpf; fhzg;gl;l guPl;rhu;j;jpfSk; ,Ue;jdu;.  

 

(B) ,t;tpdh Rl;nlz;fSld; njhlu;GilaJ. ,q;F x, y, z vd;w 3 nghUl;fSf;fhfj; 

jug;gl;l juTfspy; ,Ue;J 2016 Mk; Mz;il mbahz;lhff; nfhz;L 2019 Mk; 

Mz;bw;fhd mbg;gil epiwNaw;wg;gl;l jpus; tpiyr; Rl;nlz;iz (,yh];ngahupd; 

tpiyr; Rl;nlz;) fzpg;gpl Ntz;bapUe;jJ. 
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ngUk;ghyhd guPl;rhu;j;jpfs; rupahd #j;jpuj;jpy; juTfisg; gpujpapl;L> rupahd 

tpiliag; ngw;Wf;nfhz;ljd; %yk; ,jw;fhd KOg; Gs;spfisAk; ngw;wpUe;jdu;. 

,t;tpdhTf;F tpilaspj;jpUe;j Vida guPl;rhu;j;jpfs; gpd;tUk; fhuzq;fshy; KOg; 

Gs;spfisAk; ngw;wpUf;ftpy;iy : 

(1) mbg;gil epiwNaw;wg;gl;l jpus; tpiyr; Rl;nlz;izf; fzpg;gpLtjw;fhd 

nghUj;jkhd #j;jpukhd 
∑ =���
∑ =��� J 100 njupT nra;ahik 

(2) rpy guPl;rhu;j;jpfs; ,f;fzpg;gPl;bw;fhf fzpar; Rl;nlz;Zf;Fupa #j;jpukhd 
∑ ��=�
∑ =���

J 100 ,idg; gad;gLj;jpapUe;jdu;. 

(3) ∑ K
L�  kw;Wk;  ∑ K�L� Mfpatw;iwf; fzpg;gpLtjw;fhd epuy;fis Fog;gp 
vOjpapUe;jik  

(4) ∑ K
L� ,w;Fg; gjpyhf ∑ K
  J ∑ L� ,idf; fzpg;gPL nra;jpUe;jik 

(5) ∑p kw;Wk;  ∑q Mfpatw;wpd; nkhj;jj;ijj; jdpj;jdpahff; fz;L ngUf;fpapUe;jik  

(6) tpdhtpy; jug;gl;l fzpaq;fs; kw;Wk; tpiyfisr; rupahdthW tpilg; 

Gj;jfj;jpy; gpujpgz;zhik  

(7) ngUf;Fjy; kw;Wk; tFj;jypy; jtW tpl;bUj;jik  

(8) tpiyr; Rl;nlz; xd;whf khWtjw;F 100 ,dhy; ngUf;f Ntz;ba Njit 

,Ue;j NghjpYk; rpy guPl;rhu;j;jpfs; 100 ,dhy; ngUf;fhJ tpilapidf; 

Fwpg;gpl;bUe;jdu;. me;jf; fzpg;gPL %yk; ngw;w ngWkhdkhdJ xU tpfpjk; 

khj;jpuNkad;wp mJ tpiyr; Rl;nlz; my;y.  

 

(C) ,e;j tpdh gFjpfs;gFjpfs;gFjpfs;gFjpfs; (a), (b) vd ,uz;L gFjpfisf; nfhz;lJ. gFjpgFjpgFjpgFjp (a) MdJ 

epfo;jfTld; rk;ge;jg;gl;l tpdhthfTk; gFjpgFjpgFjpgFjp (b) nrt;td; guk;gYld; njhlu;Gila 

tpdhthfTk; mike;jpUe;jd.  

(a) ,J epfo;jfT gw;wpa tpdhthFk;. ,q;F jug;gl;l juTfSf;fika xU ku 

tupg;glj;ij tiutJk; mJ njhlu;ghd Nfs;tpfSf;F tpilaspg;gJk; 

vjpu;ghu;f;fg;gl;lJ.   

(1) ngUk;ghyhd guPl;rhu;j;jpfs; ,t;tpdhTf;F tpilaspj;jpUe;jdu;. ku 

tupg;glj;ij rupahf tiutjw;fhd Mw;wy; fhzg;glhikahy;> mjpfsthd 

guPl;rhu;j;jpfshy; ,t;tpdhTf;F xJf;fg;gl;l KOg; Gs;spfisAk; ngw 

Kbatpy;iy. ,jw;F VJthd fhuzq;fshf gpd;tUtd fhzg;glyhk; :-  

(i) rpy guPl;rhu;j;jpfsplk; epfo;jfT gw;wpa mbg;gil vz;zf;fUf;fs; 

njhlu;ghd mwpT fhzg;gltpy;iy.  

(ii) tpdhtpy; jug;gl;l juTfisf; Fwpf;Fk; nghUl;L> KjyhtJ kuf; 
fpisfs; khztu;fspd; rpj;jp gw;wpajhf Fwpg;gplg;gl Ntz;Lk;. rpy 

guPl;rhu;j;jpfs; KjyhtJ kw;Wk; ,uz;lhtJ fpisfis Fog;gp 

tiue;jpUe;jdu;. 

(iii) rpy guPl;rhu;j;jpfs; ku tupg;glj;ij tiuAk;NghJ Mz; / ngz;> rpj;jp 

/ rpj;jpapd;ik Mfpatw;wpd; rjtPjq;fisr; rupahff; Fwpg;gplj; 

jtwpapUe;jdu;.  
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(2) ku tupg;glj;ij tiua KbahjpUe;j guPl;rhu;j;jpfs; ,t;tpdhTf;F 

tpilaspf;fr; rpukg;gl;bUe;jdu;. MapDk; ku tupg;glj;ijr; rupahf 

tiue;jpuhj rpy guPl;rhu;j;jpfs; ,t;tpdhTf;Fr; rupahf tpilaspj;jpUe;jdu;. 

ku tupg;glj;ijr; rupahf tiue;jpUe;j guPl;rhu;j;jpfs;$l ,e;jg; gFjpf;F 

tpilaspf;fj; jtwpapUe;jdu;. epfo;jfitf; fzpg;gpLk; Ntisapy;>   

/+0 ∩ 2, = /+0\2, ∗ /+2, vd;w epfo;jfT vz;zf;fUTf;F Vw;g fpisapd; 
topahfr; nrd;W mf;fpisfspd; epfo;jfitg; ngUf;Fjy; Ntz;Lk;. rpy 

guPl;rhu;j;jpfsplk; mJ gw;wpa rupahd mwpT fhzg;gltpy;iy. nkhj;j 

epfo;jfT 1 ,w;Fr; rkd; vd;gijAk; rjtPjq;fs; jrkq;fSf;F khw;wg;gl 

Ntz;Lk; vd;gijAk; gw;wpa guPl;rhu;j;jpfspd; mwpT Fiwe;j kl;lj;jpNyNa 

fhzg;gl;lJ. 

(3) njupT nra;ag;gl;l khztu; xU Mz; Mf ,Ug;gpd; mtu; guPl;irapy; 
rpj;jpailahjpUg;gjw;fhd epfo;jfitf; fzpg;gpLtjw;F vjpu;ghu;f;fg;gl;lJ. 

ngUk;ghyhd guPl;rhu;j;jpfshy; ,t;tpdhitr; rupahf tpsq;fpf; nfhs;s 

Kbatpy;iy. mjpfkhd guPl;rhu;j;jpfs; 
��


�� = 0.30 vdf; Fwpg;gpl;bUe;jdu;. 
,J> )/+/\2, = / +3∩6,

3+6, -
  
vd;w epfo;jfTf; Nfhl;ghL gw;wpa ngUk;ghyhd 

guPl;rhu;j;jpfspd; mwpT Nghjpajhf ,y;iy vd;gijNa fhl;LfpwJ.
  
 

(b) ,t;tpdh nrt;td; guk;gy; gw;wpa mwpitg; guPl;rpj;jpUe;jJ. ,t;tpdhTf;F 

tpilaspj;jpUe;jtu;fspy; xU rpyu; khj;jpuNk KOg; Gs;spfisAk; 

ngw;wpUe;jdu;. ,t;tpdhTf;F rupahd tpil mspg;gjpy; jhf;fk; nrYj;jpa rpy 

fhuzq;fs; gpd;tUkhW :  

(1) nrt;td; guk;gy; kw;Wk; epak nrt;td; guk;gy; gw;wpa mbg;gil mwpT 
Nghjhik  

(2) epak nrt;td; guk;gYf;fhd rupahd nrt;td; guk;gy; gw;wpa mwpT 
Nghjhik   

(3) ,il (µ = 240) kw;Wk; epak tpyfy; (M = 40, Mfpatw;iw N = $&µ

G  vd;w 
#j;jpuj;jpy; gpujpapl;L z = 1.5 vd;w tpiliag; ngWtjw;F NghjpasT mwpT 

fhzg;glhik   

(4) NtW rpy guPl;rhu;j;jpfs; µ kw;Wk; σ Mfpatw;wpd; ngWkhdq;fis khw;wpg; 

gpujpapl;L z = – 1.5 ,idg; ngw;wpUe;jdu;. 

(5) epak ml;ltizapd; cjtpAld; z = 1.5 ,w;Fupa epfo;jfit fz;lwpahik  

(6) z = 1.5 vdg; ngw;wpUe;j NghjpYk; epak ml;ltizapd; cjtpAld; 

mjw;Fupa epfo;jfT z < 1.5 Mf ,Ug;gjhy; mjid 0.5 cld; $l;bapuhik 

 

-  -  - 
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guPl;rhu;j;jpfspd; nrayhw;Wif kl;lj;ij Nkk;gLj;Jtjw;F filg;gpbf;fg;gl guPl;rhu;j;jpfspd; nrayhw;Wif kl;lj;ij Nkk;gLj;Jtjw;F filg;gpbf;fg;gl guPl;rhu;j;jpfspd; nrayhw;Wif kl;lj;ij Nkk;gLj;Jtjw;F filg;gpbf;fg;gl guPl;rhu;j;jpfspd; nrayhw;Wif kl;lj;ij Nkk;gLj;Jtjw;F filg;gpbf;fg;gl 

Ntz;ba nghJthd tplaq;fs;:Ntz;ba nghJthd tplaq;fs;:Ntz;ba nghJthd tplaq;fs;:Ntz;ba nghJthd tplaq;fs;:    

(1) KOikahd ghlj;jpl;lj;ijg; G+uzkhfg; gbg;gJld; Gjpjhf mwpKfg;gLj;jg;gl;l ghl 

tplaq;fspy; mjpf mtjhdj;ijr; nrYj;jTk;.       

(2) nghUj;jkhd ,lq;fspy; tpilfSld; nra;KiwfSk; njspthff; fhl;lg;gLjy; 

Ntz;Lk;.    

(3) mbg;gilf; fzpjtpay; tpjpfisg; gpuNahfpg;gJk; #j;jpuq;fisr; rupahfg; 

gpujpgz;zp> ngWkhdq;fisg; gpujpapl;L mjidr; RUf;FtJ mtrpakhdjhFk;. 

Fwpj;j tpdhnthd;Wf;F tpilaspg;gjw;F gy #j;jpuq;fisg; gpuNahfpf;ff;$ba 

epiyik fhzg;gLk;NghJ mjpy; mjpf nrsfupakhd #j;jpuj;ijg; gad;gLj;jTk;. 

NkYk;> #j;jpuq;fisg; gpujpgz;Zk;NghJ ‘+’ kw;Wk; ‘-‘ Fwpfspy; khw;wkpd;wp 

mt;thNw vOJjy; Ntz;Lk;.    

(4) rpy guPl;rhu;j;jpfs; fzpg;ghd;fisg; gad;gLj;jp ,Wjp tpiliag; ngwyhk;. 

vt;thwhapDk;> rupahd #j;jpuj;ij vOjp> ngWkhdq;fis mjpy; gpujpaPL nra;J 

gbKiwfisg; gpd;gw;wp ,Wjp tpilia toq;FtJ nghUj;jkhdjhFk;. ,t;thW 

nra;Ak;NghJ> ,Wjp tpil jtwhdjhff; fhzg;gbDk; gbKiwfSf;fhd 

Gs;spfisg; ngw;Wf;nfhs;tjw;fhd rhj;jpak; fhzg;gLfpwJ.     

(5) rkd;ghLfisj;; jPu;f;Fk;NghJk; rhu;Gfisf; fzpg;gpLk;NghJk; fzpjtpay; Nfhl;ghL 

fisr; rupahfg; gpuNahfpg;gjpy; ftdk; nrYj;jTk;.     

(6) ifnaOj;J njspthdjhf ,Uf;f Ntz;Lk; vd;gJld; tpdh ,yf;fq;fSk; rupahf 

vOjg;gLjy; Ntz;Lk;.            

(7) tpdhj;jhspy; jug;gLk; mwpTWj;jy;fisg; gpd;gw;wTk;.                 

(8) mwpitAk; mDgtj;ijAk; $u;ikg;gLj;j cjtf;$ba fle;jfhy tpdhj;jhs;fs; 

kw;Wk; gupe;Jiuf;fg;gl;l tpilfs; Mfpatw;wpy; ftdQ; nrYj;jTk;.                   

(9) Neuj;ijr; rupahf Kfhik nra;tJ Kf;fpakhdjhFk;.     

(10) tpilj;jhs;fis xg;gilg;gjw;F Kd; tpdh ,yf;fq;fis kPsTk; guprPypf;fTk;.    

(11) Gjpa tpdhTf;F tpilaspf;Fk;NghJ mLj;j xU Gjpa gf;fj;jpy; tpilnaOj 

Muk;gpf;fhJ> Kd;ida tpdhTf;fhd tpil vOjg;gl;l jhspd; ,Wjpapy; fhzg;gLk; 

xU rpwpa ,ilntspapy; tpil vOjg;gl;l re;ju;g;gq;fisf; fhzf;$ba 

jhf ,Ue;jJ. ,yFthf ,dq;fhz;gjw;fhf vg;nghOJk; xt;nthU tpdhTf;Fkhd 

tpilAk; xU Gjpa gf;fj;jpy; vOj Muk;gpf;fg;gl Ntz;Lk;. 

(12) rpwe;j Kd;dhaj;jj;Jld; guPl;irapy; rpj;jpailAk; cWjpAld; guPl;irf;Fj; 

Njhw;wTk;.  


